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Mr. Schlansky								Geometry

Similar Polygons 

1. Parallelogram DEFG is similar to parallelogram XRKW. Find x.
 





 2. In the diagram, ABC is similar to A'B'C', AB = 24, BC = 30, and CA = 40. If the shortest side of A'B'C' is 6, find the length of the longest side of A'B'C'.


3. Polygon ABCDEF is similar to polygon XRKQMG. Find x.



4.  In the diagram:  ,  , and  || . If AC = 2, CD = 6, and CE = 3, what is BC ?




		5. The ratio of similarity of  to  is .  If  and , then the length of  is
	1)
	5

	2)
	7

	3)
	10

	4)
	20






		6. In the diagram below,  intersects  at C, and .


If  cm,  cm,  cm, and  cm, what is the length of , to the nearest hundredth of a centimeter?
	1)
	2.70
	3)
	5.28

	2)
	3.34
	4)
	8.25





[bookmark: _GoBack]
		7. In the diagram below,  and .



Which statement is not sufficient to prove ?
	1)
	
	3)
	 and 

	2)
	 and 
	4)
	, , , and 
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